Exercises Chapter 1

3) 


.CODE


   LW
  R2,R0,BETA


   LW
  R3,R0,GAMMA


   DIV
  R4,R2,R3


   SW
  R0,ALPHA,R4


.DATA


   ALPHA  DEFW   1


   BETA   DEFW   1

    
   GAMMA  DEFW   1


   DELTA  DEFW   1

5)


.CODE


   LW
  R2,R0,BETA


   LW
  R3,R0,GAMMA


   DIV
  R4,R2,R3

           MULT   R5,R3,R4

           SUB    R6,R2,R5         # R6 HAS THE REMAINDER

           LW     R7,R0,TWO

           DIV    R8,R3,R7         # R8 HAS GAMMA/2

           SGTI   R9,R6,R8         # R9 TELLS US IF WE NEED TO ROUND

           BEQZ   R9,NOROUND

           LW     R7,R0,ONE        # ROUND THE QUOTIENT

           ADD    R4,R4,R7

 NOROUND:  SW
  R0,ALPHA,R4           


.DATA


   ALPHA  DEFW   1


   BETA   DEFW   1

    
   GAMMA  DEFW   1


   DELTA  DEFW   1


.CONST


   TWO    HALF   2


   ONE    HALF   1

9)  

   SAME AS 8

10-13) We don't have devices like the SIC/XE machine. So there are

       no exact matching solutions. 

       The nearest would be to read up to 100 bytes from memory and then write 

       them to another memory location. In that case, a variation of 8 would work 

       again.

